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4y 1957 5} None
25) IAEA headquarters located at ...
IYNew York  2) Geneva
3) Washington 4) Vienna
5) None
26) European Union temporanly
banned the import of which of
the following items from India
recently?
1) Alphonso mangoes
2) Snake gourd
3} Bitter gourd
4) 1 & 2 only
57 All of above
27) 11" century step well Rani-ki-
Van has been approved for
placement on the world heritage
site list by UNESCO.Rani-ki-
vavis in..
1) Gujarat 2) MP 3)UP
4) Bihar  5) Tamilnadu
28) Poland capital is Warsaw and
Poland currency is...
N Zloty I)Fornt 3)lev
4) Korana 5) Euro
29) Which city will be the world
book capital {WBC) for 2016
in recogmition of its promoting,
the publishing and bookselling
industries as said by UNESCO
on 26 June 20147
1) Canberra{ Australia)
2) Rome(ltaly)
3) Warsaw (Poland)
4) Berlin( Germany)  5) Mone
30) International day against Drog
Abuse and Hlicit Trafficking
observed on ...
1)28Jan  2) 28 Feb 3) 28 May
4)26 Jupe 5) 26 Dec
31) Passport seva Divas celebrates
on every 24" June,because. ...

1) Passport Act In I%TWm /

to effiect on 24 June.

2) All ciﬁmsafhdiamuﬁgﬂk
pa&;pm’lby?*l June 2015
3) On 24" June, 1mn@\

first passport

4) On 24™ June every, .

1) 24 June }
1) Hjlme
33) Rmp%ll{mwﬁm K.bel

DHK 'phyu't
2) Football
3) Shooter
4) Cricket player
5) Nome
34) Rajiv Gandhi Khel Ranta is the
highest award ...
1) Literature Z)Dmce
3) Sports 4) Technology

e,

5) Information Technology

35) John XXII and ... were

declared as saints of the Roman
catholic Church on 27 April

2014 by Pope Francis at Vatican
city.

1) Mother Teresa

2) Nelson Mandela

3) Tomas Halik

4) Sister Niveditha

5) John paul 11

%}thﬂ?ﬂhﬂikbdmagsm,,

1)Delhi  2) Tamilnadu

3) Assom 4) Odisha

5) Meghalaya
37) Sudarsan Patinaik has won the
peopleschowepm:eforhls
work “Save tree. save the
Future” at the world cop of sand

ing -2014 held in the

atlantic city of the USA on 28
Jun 2014 he is a famous..

1) Canvas paintes
2) Music player

3) Reality show player
4) sand artist

5) None [\

38) Tejinder Virdee, Known

GEN'ERAL ENGLISH

Directions (41-58) : Read the fol-
ing passage carefully and snswer
the guestions given below it Certain
words/phrases have been printed in
bold to help you locate them while an-
swering some of the questions.

There was a country long time ago
where the people would change a king
every year. The person who would be-
come the king had to agree to & con-
tract that he would be sent to an is-
land after one year of his being a King.

One king had finished his term
and it was time for him to go te the
jzland and live there. The people
dressed him up in expensive clothes
and put him on an elephant and took
him around the cities to say goodbye
to all the people. This was a moment
of sadness for all kings who ruled for
one year. After bidding farewell, the
people took the king to a remote is-
tand in & boat and left him there. On
their way back, they discovered a ship

¢ bodies of all thie past kings. He un-
ders

that had sunk just recently. They saiv
a young man who had survived by
holding on to a floating plece of wood,
As they needed a new king, they
picked up the young man and took him
to their country. They requested him
to be king for a year. First he refused
but later he agreed to be the king. Peo-
ple told him about all the rules and
regulations and that how he would be
sent to an island after one year.

After three days of being king, he
asked the ministers if they could show

Soonvhe discovered dead

that as soon as they were

on thejsland, the wild animals had
mmiwulm them.

king went back to the coun-

collected 100 strong workers.

e Yook them to the island and in-

structed them to clean the jungle, re-

e all the deadly animals and cut
down all excess trees. He would visit
the island every month to see how the
work was progressing. In the first
month, all the animals were removed
and many trees were cut down. In the
second month, the whole island was
cleaned out, The king then told the
workers to plant gardens in various
parts of the island. He also took with
himself useful animals like chickens,
ducks, birds, goats, cows ete. In the
third month, he ordered the workers
to build big houses and docking sta-
tions for ships. Over the months, the
island turned into d beautiful place.
The young king would wear simple
clothes and spend very little from his
earnings as a king, He sent all the
earnings to the island for storage.
When nine months passed like this,
the king called the ministers and told
them : I know that | have to go to the
island after one year, but [ would like
to go there right now." But the minis-
ters didn't agree to this and said that
he had to wait for another three
monihs to complete the year.

Threé months passed and now it
was a full year. The people dressed
up the young king and put himon an
elephant to take him around the coun-
try to say goodhbye to others. Howey-
er, this king was unusually happy to
leave the kingdom. People asked him,
“a]l the other kings would cry at this
moment. Why is it that you are laugh-
ing 7" He replied, "Don’t you know what
the wise people say? They say that
when you come Lo this world as a baby,
you are ¢rying and everyone else is
smiling. Live such a life that when you
die, you will be smiling and everyone
around you will be erying. [ have lived
that ife. While all the other kings were
lost into the luxuries of the kingdom.
I always thought about the future and
planned for it. [ turmed the deadly is-
land into a beautiful abode for me
where 1 can stay peacefully™

1. Why did the people of the king-

1



doam chiarie the lng every yeur?

{1} As thetr first King had nyent-
ed this system and hod Fe
corded 1t in the form of A cor-
et

{2} As they believed that the new
king woulbd bring better ideas
o the kingd cm.

(4 As ey wanted thedr king 1o
et on an aland after g year
af hard work

[4) Mot mentianed iothe paesags:

(5] Mone of these

42. What was the ritual whea the king
was 1o be sent 1o the daland ¥

{1} He would be paraded in the
clites us & [arcwell and then
bie taken toa remote islamd

(2 Hewould be glifted with expen-
sive clothies and jewelieny

i3 Hewionald be sent an an island
which requéred & Jot of work
ta be done

4 He wiould be asked to buy an
elephant and go ta the remode
Islamsd Blanaell

i8] Mone of these

44, What did the young man netkce
cn his vislt by the remate island
alter thres days of being king #

1] That the andmals on the island
were foo many b Be killed

12} That the island was very big

12) Thiat the jumgle on the island
wivk Tull of amimals that had
kiled all the previpus kings
placed on the iskand

(4] That e baland was very beau-
el amd chen i

i5) Mol mentioned in the passagn

#4. What happensd o s island In
the first month of the young King's

temums ¥ .

(% The wild animals were fé-
moved from the isiand.

(B The whale island wos cheamed.

(4 Mamyy tress wiere cuf down,

(15 Sty 1A {2} Cenby |B]

12 Dby [C)

() Omby 1Bl and [T)

150 Oty 1A} and (C) l

AR, Whit could e sakd about the le

land after the young h

made his servanis work T

|C] He was cunining.

[1] Omlby (A

(2} ©alby (4] and [F

13) Cinby [T

1) Oy 18 and |

5] Adl the fhres (4], (B) and [T}

AT, Whiat was Uhe king s request tothe
ministers after the completian of
nine months ?

11} ‘That ke should ot be seol o
the dsland after completion of ©
Do YEar

(2 That he woubd [ike bo go o the
teland imumedlately

2% That B should be pald mios
in arder to improve wark on
the lsland .

HFTMthulhmnldh:amliﬂlh:
iskand after o ysar

G Mone of these

48, How digl the young king arrange
for money an the island 7
[1) By seliing a large amoant of

his property -

rydieng all (he money
mmmhﬂmunm
henrrowing money from the
mmﬂi‘rﬂ.ﬂu’-&liﬁ%mﬂiﬂ;ltmw
Le=es off hiks

[4) By spending vesy
::a:lmeunhmgmwmﬂmg
i to the island for starage

{8 Mo of thess

&8, Why were the peaple of the k
dhomn przzled whsen the yowimng
was taken aroaind the

.
[1+]
say guodiye Lo every 7 LN

(1) As they could not belEvs that
ome year had 50 sod0

) As they

)
' {}ffﬁ‘xm Abways think and plan ahead

Pl THreetions (51- 53] : Choose the
e group of wards which is meost
a in eneandng 1o the wosd  group

L—F"’memnuﬂ'mm“uudm-

ihe passage.

Gl. CONTRACT
(1) woek 1Z] slgnaturs
) deal (4} wemporary
{61 get

o2, RIDDING
i1} wishing (2] mwcticning
¥ wasting 4 playing
(5] talking

5d. ARCE
111 steg (2) encuntain
13] plenty 141 s
(5 cwelking

Directions [54 - B8} : Choose the |

word fgronap of wards whicls i mosk
Eﬂ: LI:1 neeaning to (e word/

group of wards printed in beld as ussd

in the paasage.

B4, SURVIVED

(1) scratched |2} died

(3 Tived [t} fedl
" (8] mulfered

55 VICIOUS
111 slmyple (2 mamali
31 thenagh {4) harmless
(5} Feroctous

Directlons [ 56 = 60) : Rearrange
the folloredng six sentences A, (B4, 1),
(L, (Bl and [F) in the proper sequenos
to form: & meaninghul paragraph: then
answer the guestlons given below

shouted, “Children,
e, there's a foxd®

ame very. close, the

maother dupk quickly :g-P_rgEﬂ hier

sdnge-and rose up in the abr.

i duichdings hurriesd towards (he

lake gnd the mather duck began

k bnck and farth drag@esg
& wing on the ground.
il her duck and her itde duck-
Higa were on iheir way to the lake
o Gy

[E} “The fox stared in dishelie! i the
mather duck and her duchlings
as he could not reach the duck-
lings becanse they were in the
middle of the laks by now,

(F] When e fox saw her he became
bapeny as he theoghitl Ut the maths
er duck was hurt and couidn’ Gy
and that he couhd easihy cabch and
eat her !

8. Which af the following should be
the FIRST scntence after rear-
rangemenl 7

(1A (2B
e 141 D
iME

87. Which of the kllowlng should be
the SECOND sentencs after re-

arrangement 7

(1ha [Z) &
o o
EIF

BB, Which of the folbowing shoukd b=
the THIRD sentence after rear-
rangement ¥

14 [z} B
iR (4} D
J19

=54, Mﬁlhmahmﬂh
the FOURTH sentence afler ne-

arrangemenl 7

e 2
(BN E] W E
G F

B0, Which af the fellowing should be
the LAST [SIXTH) sentence after
¥

(A me
(o HE
TmE

Directions (81~ 65} @ Which of
the phrases (L], [2) (33 and 4] glven
belew sach s=nience shoubd replacs
the pihirass printed in bald in the sen-
terice bo make it cormect?
¥ e sentemos I8 correct A% s given
umd ‘P correction is required’, mark
(5} as the answer.

BL. As il was & dark and stormy night.



Lata was too scared to g3 home
alone.

(1) viery scary to

[2) much scared (o

(3 as scared o

(4] Lo acmred doa

(5] Blo coarectlon reguired

L Since It was her eogagement par-
ty. Riya was dress to kill,
(1} dresses to kil
(2] dressed o kill
(3] dreased to killings

. [4) dressing to killed -
(5} Mo carrection required

83, Ramesh warrles endlesaly aboul
his sony's fubure a8 T was 5o poor
in studies. .

(1) warry endless

2] warried endless

[ worvied endlessly

(4} worrkes endless

(%% No correction reguired

B4, Mow that ihe actual criminal had
been caught, Kunal was happy
that he was finally It of the heok.

(1) off the hook

(2} of the hookings

3 el the hools
(4} of the hoaks

(50 No corvection required

88, The Bttle bay appeared all of a
sadden out of nowhere and take
everyane by surprise.

18] toak everyans as surprised
12) take averyone with surprised
13) isok evervone by surprises
4] took evervone by surprise
151 Mo correctinn required
Directions (86 -70) i In each
question below, o sentenoe with fowr
words printed 1n bold type is gven,

Thess are nuambered as (1), (2, (3]

amed {4), Oe of thuese fouy worrs pring-

ed m'bald miy be either srongly spelt

or imappropriate in the contest of the

pentence. Flnd ot the weed which (=

wrangly spelt or inappropriate, ifany,

The asmber of that word is your an-

awer, M all the words printed in

are cortectly apelt and umm

wie in the comest of Uh sentence,

(% Le. "All correct’ as your answe |'

88, 1t is nol aasseal (1] for
al the hotel s carry (2] 8a
mhers [3]7 back with the
they refurn (4} o ih
All correct (5]

[ Eh:vunndlll,ﬂ

Fo. Life i= like awujhmﬂcu
it, and it's charmeng: (2] frows
[/ atit, and it becoms alalater.
[ £ AH eorrect
DMrections [T1=80) 1 In the fol-

e ane lanks, cach
of which ha=s been nusmbessd. Thess

numbers are Prinved GEOW LOE pas-
sage and agalnst each, fve words are
supgested, ome'al which fits the blany

by. ﬁndmnm:appmp.-.
ate word 1n each case.

A lamb was [TL1 with a flock o
sheep ane day, She soon fourd sor
saeel grass al the of the figld,
Farther and fariher she went, away
fromn thi aithers. Shewas el hes.
self so much that she did not (F)a
wodf coming mearer to her However,
Wﬂ!tfﬂlmhﬂ.il‘ﬂwLﬁh
slarl pheading, “Please, pltase don cal
mee yel, My stomach Ls full of grass, ¥
you widl a whide, § will ([T5) mnach bet
ter. ™ The will (76 that was & go0d lie,
&0 he sal down and wadted, Alter
whille, thie lamt aasd, “If you [FF) me
i dance, the grass In oy stomach will
be digested faster” Again the wof
agreed, While the lamls wos dancing,
ghe Tead & new (T8, She sald, “Fleas
talkoe the el from. arownd sy ook, T
you ring it a8 hasd as you can, |
e whis to damscs even faster. “The
[T the bell and rang 12 as hard
g an] okl aend his
ri and quic
find the missing lamb. The (B0) dogs
frightened mwuﬂ':wn} and
the lamb's life,

T1. (1) watching
3 wilking 4] tiring ™
(5] grasing :

72 (1) height edge
] :I'Iﬂl!-ﬂt [% Eﬁl

IIH:Ie-n (2} hack
/& 1) mecklace (4} oy

5] peestnce
T8 [1) opened 12 snatch

(M decorated {4 toak

(5 ring
80. 1} smiling (2} hurried

13) barking i) mach

(3] friendly
QUANTITATIVE APTITUDE

Directioss [81-88] : What will
o in place of the questian mark 7
in thie following guestions ¥
H.. TRE55- 4256 « 288 = F + 374

(1] 183 T
) A3 bit) 43
Iz Mone of these
B2, 48% of X259 + T of 350 = 309
i 42 T as
3 28 4] 26
(=) Mone of these

i LY N ED=BDNEG .
(1) b4 (2] 16.2
[¥ 15.8 4 15,1
(5 Mone of these

3 id 5
7ol gy

(s (& 105
(® Loe 4] 106
B Mone of theae

af 460 = 7

4 i
= T |
:-c:!ﬁir 3

2 42
14) E116
iH Mone of thess
B7. 1200 of 880 + 229 of 450 = 7
(1] 794 T
i3 Tax a) F48
(3] Mom= af thess
PExE-18x&

=¥
e ?!4E+ﬂ;

a7
103 m =l

a5
2 777 141

|

]

1

Gl

(5 Mane of these
i _Z 1
— — —
212 H mf*ﬁ-;- E.E:'r

3
NE I

5
i 26

a
g 14

{5 Mome of these
PO, JATE = 222.24 + 32415 =T

(1] 33E4.15
(%] 3483.16
(] 32808.25
] 338325
150 Wone of thess

91 TA4 + 1B+T=f
1} 48 214
& 21 My T
[ Mone of these

92, %Iﬂﬂ-ﬁﬁt %nfiﬁﬁ-?
il A48 2l 478
13 480 14} 454

(B} Mane of these

B3, D% ol 4102 =%
(1 4112 [ 41.12
(3 84.25 [4] 42125
5l Mone of these

B, 105% of ZE00 + 2.0% of 440
i =%

1] 37.50
12 3725



(% av0.2n
[y FT2.50
(5 Mone of theas

B 4900 + ZE x 444 2 12 =T
[1) 6575 I35 6475
I3 5455 £ 5'.'-'45
|5 Mone of these

Delrestions (PE-100) : What will
oome in place of the guestion mark (7]
in the following number seriea 7 |
a7 B8 1 16 .7

[ 22 [ 18

(3 20 ] 21

[5) bone of these
B7. B4 102 O 45 T

L} 36 () 2B
5 Za (4] 32
|8} Mone of these

BE. B 6 14 45 ¥
[ 1883 () 185
3 133 141 1349
1% Mane of these

98,8 B 13 22 ¥
111 30 2 31
(3 34 4l 36
{5 Mone af these

1008 11 21 41 7
{1} Bl (2] G
Tl 41 9l a

19 Mane of these

1L, Nurmber of students studying in
calleges A and B are in the ratk
all 3 @ 4 pespectively. If 50 moce
studenis join collage A and there
is no change in the number of
sudents n Callege B, the respec-
thve ratlo b=cames 5 : G, What is
the number of students in Ced-

lege BY
{11 450 4 s
400 W oE0o

(5 Nome of These

Mk, Coat of 12 belts and 20 wallets
s A= 8640, What is the coal al
4 bielts and 10 wallets 7

- TR

{3 Bs. 1,775 (4] Ra. 1,785
5 Maone of these

108, & tradn FusBing at the spsed of

B0 kmph crosses a 200 melne
loeyg platfonn in 27 seconds. What
Is the length af the tradn ¥

B} 25D metre

[Z] 200 metrs

3] 240 metre

] 450 metne

154 Noanie of these

T, Which of s following respors-

5 has the fractbons in ascensding

i

(1l

]

Slen =Z|w
Qi Emis
ﬁll:i I.EI-FI

[ Sl s -aje

=

W Emle

“ale K
mlee wia

1]

5] Moanes of these
108, Sum of the digits ol a t
mumber 18 8 and the digit
ten's place ks three times the
14 in the umnils place.

-
=

11 % of e consecuthe odd
il B, 500 I beers is 90, What is ihe
(2 Ra. 2.950 ' / numbser i descending or-
(@ Rs. 2780 W N i
[4) Rs. 2,870 : ( { Ve @ 85
[3) Mone of fhess ) f_,f"l |" ) 99 (4 &7
L0F. The 80% of & nember ke n- ._,_f 5} Wone of these
= = 112, Find the average of foflowkng set
g th of another mamber. i= "“\\ of numbers
the ralés between | Th, 48, B4, 66, 70, 64
the second numbe [ 72 2y G
na:a in a8 |4 G2
BHda:8 5 None.of these
113; Latika 4n8 of her month-
lm.mu}unmﬂﬁ hrmmmmﬂ?mmw 0P af the
cle for 1B, monthly income T‘ﬂ‘;.;waprim
should Remainlng anmsr
rtllu%f“ o :htm?m;ahunpuml]r
A oI )
[1] Ra, Z.4 — i e 1A000
pRE FEAD (2 Re. 18000
iy (4] Re. 16,500
[4] Ra, 2425 ) B 18,300
B o 1% Mone of (hese

108. What 13 the compound inierese
Botreed of an amount of Rs.
B.500 in two years at the rate of
interest 10 poc.pa. ¥

{th Rs. 1875 (2] Bs. 1,885

114 Avmount of stmple nlerest ad-
crwed cn an amount of Rs. 28,500
in seven years is Ra. 23,840,
What & the rate of interest
p.oopa. 7

TROn3 i 2‘25 154 ﬂ.ﬂl‘.H.E

11} 105 [ 128
ooul 12
5 Mane of these

116 A and B staried a business In-
vesting ameounis of Ra, 150,000
and Ru. 2 50,00
Whtmltleﬂ‘sahartmlthmf
ool Re. 1600000 7
(1] Fs. L0000
(E] Rs. &0,000
(3 Rs. 80,000
() Rs. 1, 00000

6.8 |20.6) 16.2 PR
LB | 24.2| 15.8] 17.8| 258
2 18,4 |26.4 [ 306 196 28.4
0.2 | 282 |22 'Bl 224288

"/ 118 What is the average populatian

of Eiate B [in lakha) for all 1he
years togethar 7
[ 25.24 1 24,44
13 24.24 4y 28 449
15 Moo of these
117, What is the ratle bebweesn the
popalstion of Sate A in 2008 and
the population of State E in 2007
respectively
i1 a7:22 2 22 : a7
a7 28 ) 29 : 47
5} None= of thess
IIE-.F:G'pu!a.uun of Bigte E in 2004 ia
appromately whai per cent of
the population of State D in
Q006 ¥ .

(1] 85 2 a5
[ 1m (4] 130
51 120

" 118. What is the total pepulation of an

e states together [in lakhs) in
2005 7
i1 106.5 12 ne.4
) S8 4] 1028
19 Mone of these

1230, Population of State E in 2007 i
what per cent af the total popu-
Iathom af adl the states iogether in
thal year 7 [roumnded off o ner-
=il inbeger,
) 2 & 2%
23 4 21
5 Wane of these

REASONING ABILITY
120 How many such pabrs of letbers
are these In'the world CHANNEL

each of which has as many let-
Lery befween them in the word

as in the English alphabet 7
11} Mo [Z] Cme
I Twa (4] Three

15 Moce than thres

122, How many meaninglul English
waords can be made with the lel-



ters ATLE using each letter ondy
ance in ssch woard 7
1} Mome (2] Ome
¥ Twa ] Thiees
i Mose than thres

123, In o cerlain code GROWH s wrils
e as TEHAGE and NAME 18 wril-
ben as G4%5. How is GEAR wril-
t=n in that code ¥
1) 7a8E @ Te4d
3 TR ) Tada
188 Mone af thess

124, How nsany palss of digits are there
in the number 6315764 sach of
which has as many digils be-
tween them in the number a8

when the digiis are reasTanged
in descending arder 7

(1] Hore Ly Qe
(3 Two
(4] Thres=
(5 Maore than thres

125, Wiat shoukd come et in the

. lowing letter series 7

EDFHJLMACEGIKMED
FHIJLACEGIKEBDFHJ
il B @ L
13 M F
15 None of thess

1236 In a certain code TESPLAY i writ-
ten as RHOQZBM. How is
GROUFED wriiten In that code ¥
(1] PSHTEFR
[Z) NRFYCDD
I3 NOFYEFD
(4] PSHTCDO
(3 Mone of these

1E7. Four of the [ollowing five are alike
In a certain way and so form a
group. Which ts the ane that does
not belong to that group 2

(1 168 441
(3 381 Wy 529
[ 289

128, Among P Q. R T and W each
having different weight, T i=
heavier than W and lighter than
omly B. 3 1s not the Bghtest. Who
amang them s definitely the light-
el ?

DLV
o w

15 Mong of these
128, 1f 'R’ denobes “+';
W dencies Ty

131. 1n & row of thirty children M 15
slxth to the right of B wha is
twelfih from dhe lefi end, Whas
1a M's poaition from ihe rght end
i the row ¥
1) Twelfth
12 Thirtesnth

Fi e e (\ |
{4} Data inadequate {

3 Fourteenth

(4} Datainadequate

15 Wone of theae

Directions [152-137): Ingach
question below are three statemenis
lllowed by three concluslons
muenbsered 1, 11 and 0L Youw have (o
like the three given statements 1o be
trug even i they seem to be at
variance fram comemenly known Gacks
and then decide which of the ghen
conclusibns loglcally follows from the
thres given stabements disregarding
comananly Knewn facts, Then decide
which of the answers (1), [Z]. 13, &
i {50 b the correct answer,
132, Statements -

Some desks are chairs.

All elvairs are tables,

Some ixhies are mats.

Coneluaiomns

I. Some mats ars desks.

Il. Some tables are desks.

. Soarse maly are chairs,

(1) Only 1 follows

(& Ondy 1 follows.

[ Cmby 1 follows

4 Ol 05 arwd 10 Tollow

[S) Mone of these

1. Some chaing are Books,
{I. Some hammers ars books.
{11 Moree foflowe

2 Omly § foléows

3 Caly 11 [ollows

S Only 11 follows.

15 Dnly M and 01 Eolbow

Some cameras are photographs.
Some photagraphs are slores,
Concluosions :
[ Some Slonss are Casmeras,
11. Some stores are roofs.
111, S Chmeras arg rsalE,
{1} iy 1 fodlews
{2 Omly U follows
13 Onky 10 lallows
(41 Cndy 1T amd OO0 follow
[ Mpone= aof these
136, SLatements !
Zome nadls are horses.
All horses are Lablets,
All inbiets are crows.

Conchasbons =
1. Soames oroms ans fails.
11. Soare Lahlets are matls.
I1. Bomme crows ant horses,
(1] Dty [ lallows
(2 Omly 1 ard I follow
(3 Only 1 and 10 fallow

" ) Only 1 and I follow
15 Al 1 and 10 follow

1 and 1 follow

Oy 11 amed T Follow

1L, 10 aned 00 Follow

Home of these

DHrectians (138 - 143 ¢ Sludy

fallzwing arrangemend carefully and
thi qecstions gheen beloy

DEFRBAKECIOBIE *F
EMPIAHIWEGZ#UQBTHN

138, How many such numbers are
thers o the above arvangement
each of which is immediately pre-
coded by m symbol and immedi-
ately followed by a letter 7
{1} Keome (21 One
B Two 4] Thres
B More than threes -

188, Wik of the folkowing is the nitith

io the right af the beenty second
from the right end of the above

B Mone al thess

Ll How ey such symbols are there
i the above arrangsment each
of which is fmmedlately preced-
ed by & number and imamedlatehy

followed by a better 7
11} Ko [ Ome
13 Twwo (4] Thres

[E) Mo than three

141.1f all the numbers are dropped
from the above afrangement,
whilch of the fpllowing will be the
clesenth from the left end @
me (2 H
[E= 1 i *
5 Moae of these

142, How many such consonants are
thers In the above arrangsment
each ofwhich is immediately pre-
ceded by a number and Imimedi-
ately Fallowed by anoiher conso-
et
(L) Hong [E) O
1Y Two (4] Thres
(S Boce than three

143 Four of the following five are alike
in & oertain way based on their
praitions in the abowve arrange-
ment and 0 foom a growp. Which
is the ane that doss mot balong
o that groap 7
i1 41l 12 W



I3 gTu (4} Rab

(5 <FSHE

Directions (144 = 148) i [n the
follorming questions, the symbols #, %,
@, 0 and § ane used with the fllowing
meanings as llusirated belew :

P& means P is not greater
than "

‘P& @ means P 15 not emaller
than . ' )

‘F A {2 means P is neither egual
to nar smaller than Q. .

‘PO 43 means ‘P s nedther equal
tonor greater than g,

P [ means P s netther small-
er than nor greater than 4.

Io each questlon, thres stage
ments showing redationshilp have been
gven, which are followed by three can-
¢lussons |, 0 amd 101, Assuming Chat
Lhee given sabemsmbs are trie, find out
which conduslen |3 i/ are defnitely
e,

144, Statements
 MOKKET,T&J
. Comchasloms: 1. J# K
I TeM
.M #dJ

(1) Mise B true

(2] Omly I s Lrue

i3} Only 11 s true

4} Only 1 B true .

B Oy I and I are e

140, Statements ;
FET.THHM MaR
Concluslons: [ ROT

il Fioh
I F i B

(1) Only | is true
(2] Only I 18 true
() Oy [0 d8 Cewes
il Only elther 10 ar (6 15 trae
15h Cnly 11 &nd U are troe
148, Statements
JAaH Hid B BN
Concluslons: 1. MiH
I, maed
nL.J&8
[1] Omby 1 &md 1 ane true
21 Only 11 aned 1L nre tree
i3} Only 1 and 01 are true
44) Al L, 1 and 1 are
1B Maoe of thesi
147. Btatemenis ©
B#T_.T#H.l"t

[LES D
{1} Only [ is true
12 Omby 1 s true

12 Only 10 s e
4 Onby [ and 18 are true
5 Mone of thess
1408, Statements
wWoaM M%F, DFF
Concheslons: 1. DEM
N WaF
. wab
{1} Omiy [ is true
1% Only ! and 11 &6 true
(# Cmdy 11 ansd 100 are tree
(4] Omby 1 and i are true
5] AN, I8 and O are troe
Directions : {150 - 150 : Study
the fallowing information carefully and
angwer the questions given below :
M. D, K, BT H W oand A are
sitting araund & cirele facing &1 Lhe
pentre. [} &5 second o the right af M
whin Is Nfth o the left of T. K & thin
to the right of B who s second Lo the
right af O H 1s second o the rght
af 'W
150, Wh s second to the tight of A Y
11}t oo
I3 &
(4] Dhata imndecquats
(7 Mone of these
Directloas (156 - 160) = In &
of the flve answer [Eines o
an the beft, if the seque
Probiel

i ]

161 Wha & third 1o the keft of M 7

[ A T
B H o
(3 Dmts inadequate
182 Who 2 Tourth to the right of H?
11 A T
1% R K

15 Mooe af these

183, In which of the fallowing combe
neatlons ie the first person sitting
petween the secand and the third
person T
i1} Knrar

(2] MW
4] TAK
pe of thege

; hange (hls po-
b third to the

(2 o
41 K
thise

the folkewing padre I.B"
d person sitting to the

g .._}'J_h_ Sl come after the problem figures

e

Dl'l'lllﬁilll.ih: DLHDD |CNOC

161, I text was bighiighted and “Edit”
“copy” was elicked, what would
happen ?

(1] “Temct weouilil et coipiesd from the
document and placed b the
chipheard

{2} Test would e removed fram
e document and placed In
the cliphoand

4 Tesct from the clipboarnd would
o placed in the docurment &l
the place whers the curser s
Tilindeing

(4] oy (&) and [3)

E Meoe of these

183, The blinking peint which shaws
yower pasition in the text i Called

i ik

TR I L 1

T

|8} Blinker {2 Cursor
[ Causer [4) Podniter
(%) Mo of these
153, For se=ing the oulpul, you sse
(1] Mlarduar
i Emphoard
31 Blouse (4] Scanner

{5 Mone of thege
1684. COs are of which shape 7

(1] Bquare 2] Rectangular
3 Found 4 Hesagoanal
5 Mone af thess

185, A scannes atans
{1} Floiures
12 Text

{3 Both Pictures and Text
141 Wediher Pictures nar Tect
B None of these

188, A directosy within a directarcy is



198, “"HNI" means ____
{1) Highly ‘Non-interested Indi-
viduals
i2] Highly Needy Individuals
{3) High Netwaorth Individuals
{4) Highly Negative Individuals
{5 None of these .

200. Digital Marketing includes-Find
the incorrect answer ___

(1) Web advertisement
(2) E-mail canvassing
(3) Blogs L
(4) SMS compaigns

(5} Mobile alerts

.
&
Vi
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TENREL 3)2 a1 53 63 m 83 %3 03 |
inas ip 135 W3 | bR w1 | s w1 | o 2013 :
s (222|231 |zew  |mW 266|201 |81 |29 |30 |
301 321 333 343 355 36M En 385 39)4 40)3
ap o1 (43 A [ an (46l |anz | |48a |49 506 |
s03 [sa1 |36 |52 |SA [sem  |sm |sep |55 |eom |
615 @2 |63 |ean (e 6B &M [esm |69k | 7oR |
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9)e s23 |93z |94z |k |96 |973 |98k |99 | 10op |
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1711 1723 173)2 1744 1M 176)1 177 178)3 179)1 18002 x
e | 1mW | 1mW | 185|184 [1sen  [1&52 | 188 | 189 | 1908 |
B1E | 125 (1994|1945 | 1955 | 1964 [ 1974 | 1eep | 1%el 2008 |




EXPLANATIONS B

1.
2.
3.
4.

31.

43,

46,
47.

48,

]

(4) AllA, Band C.

(2] State Bank of India (SBI)

(4) Reserve Bank of India [RBI)
(2} Credit Guarantes Trust

i2) PSLV

(1) Air to Adr Missile

(3) Indta 8. (1) Spain

(4] Mr. Naveen Chawla

(1) 3%

. (3) Only Aand B

{4) Small savings

(2) 49th

(5} Dr. Y.V. Reddy

(1) Manoj Kumar

(4] 20000 MW (by a030)
(2] Power Sector

(1) Cuba

[1) Mr. Ramni Baran Yadav
(5] LTTE

. [4) Es. 500 crores

{2} Chhattisgarh

(3] Energy Sector

(1) Fighter jets

(5] Mr. Manoj Kumar

(3} South Africa

(2) China

(1) Nuclear Programrme

(11 Onlv A 30, (2] Spain

2] Hockey

(2] Mational Food Security Man-
agement

(2} May to June

(1] Milk production

{3) Rs. 3.000

(5) Mone of these

i3] four years

(4) Dr. D. Subbarao

(3] None of these

(5) Sports

{4] Mot mentioned In the passage

. (1) He would be paraded in the

cities as a farewell and then be
taken to a remote island

. [3) That the jungle on the island

was full of animals that had killed
all the previous kings placed on
the island

{5} Only (A} and (C)

[1} The dangerous island had
been turned to a beautiful place
i2) Only {A) and (B)

(2) That he would like to go to
the island immediately

{4) By spending very less of his
income a5 a king and sending it
to the island for storage.

(3] As the young king was happy
to go to the island unlike the pre-
vious kings.

o0,
B1.

54.

B5.

BEBES

3

4

{3) Always think and plan aneadq
(3) The meaning of the word Con-
tract (Noun) as used in the pas-
sage is : an official written agree-
ment; deal.

Look at the sentence :

| was on a lhree-year contract
that expired last week.

Hence, the words contraet and
deal are synonymous.

(1) Bid somebody good morning,
farewell ete. means @ to say or
wish 'good morming' ete. te some-
body.

Look at the sentence :

I bade all my friends farewell,
Hence, the words bidding and
wishing are synonymous.

. (8) The meaning of the word

Abode (Noun) as used in the pas-
sage Is : the place where some-
body lives, dwelling.

Look at the sentence :

You are most welcome to my
humble abode,

Hence, the words abede -and
dwelling are synonymous.

[2) The meaning of the word Sur-
vive [Verb) as used in the pas-
sage is : Lo continue to live or
exist. )

Look at the sentence ;

Some strange customs have sur-
vived from earlier times.

Hence, the words sukvived and
died are antonymous.

(%) The meaning of the word Vi-
cious (Adjective) asz used in the
passage 1s : violent and cruel;
brutal; aggressive and danger-
oS,

Look at the sentence :

She has a vicious dog.

Hence, the words vielous and
harmless are anlonymous.

D ' 57. (1A

ac 59. (31 F

(4 E

[5) No correction required

. 12) In Passive Volce Past Parti-

ciple form of the Verb (V,) is
used.

[3) The sentience shows past
time. Hence, worried endlessly
should be used.

. (1) The group of words let off

means : to separals

{4} The first part =i the sentence
is In Simple Past. Hence, accord-
ing to the sense of 1the sentence,
Simple Past should be used in
the second part aiso.



6. (3] The correct spelling is : sou-
VERNIrs.

{1} The appropriate word should
be ; wasted.

{4) The appropriate word should
be : groaning.

[5) All correct

2] The correct speliing is :
charming.

7.
88.

69.
70.

7L (5) grazing T2, (2j edge
73. (1) notice T4. (5] pounced
75. (3) tasie 76. (2) thought
77. (4) allow 78. (1) idea
79. [4) took 80. (3] barking
81, (3) 7E55 - 4236 + 388

=7 + 3074

= 4007 = 7 + 3974
= 7= 4007 - 3974 = 33
350 =7

A48
(1) 525 x — +

ge. 00 * 100 "o
- 35;0"?=399—252=14?
147 100
= ————=42
= 350

4 7=1228x25-65=24
= 30.7 - 15.6 = 16.1

5 4 3
= 490 e o
84. (2) ? xgXE ¥ =106
23 19 61
e W P =
85. 5 5 5 " "
437 61
=
=35 ' 5
L, 81437 540 - 437
*5 45 45
B2
45 45
86. (1) J7 =335 - 17 = 335 - 280
=46 -
S60%1256 450 %22
STI [1”?- 100 + 100
= 700 + 99 = 799
_ 28x5-15x6
88. (81?7 = 72 | f356 +(13)°
__140-90 50 25
= 49+16+169 ~ 234 117
g5 37 6
Ea.[ﬁ}?::-?—_‘i"? KE
190 185 375 _,.11
"2 14 14 14
80, (2) ? = 18.76 + 222.24 4+

3242.15 = 3483.15

784
. =T
oL [4) 7 16%7 .

455x3 456x5
02 @7 —5—t—pg

= 195 + 285 = 480

10
93, (2) 411.2 % 100 = 41,12

oL i 7 2500 x105 440 +25
= 100 100
=926.25 + 11 = 37.25

(2] ? = 4900 + 28 x 444 + 12

_ 4900 444 o oc
28 12
{4) The patiern of the number
series (s 1 |
T+2=9 9+3=12

12 + 4 = 16 1ﬁ+5.@

{3) The pattern of the number
series 1s :
384 + 2 =192 192 + 2 = 96

96+2=48 48+2=24]

(5) The pattern of the number
series is :

Bxl+1=6 6x2+2=14

14 x3+3=45

A5x4 +4=180+4=[184]
(8) The pattern of the number
series is @

8+12=9 9+2?=13

13+32=22 22+4%=[38]
100. (1) The pattern of the number

series is ¢

Gx2-1=11 11x2-1=21

Zlx2-1=41

s1x2-1=[81]
101. {4} Let the number of students
mcullegmAandee Sxand 4x
respectively.
According to the guestion,
3x+50 _5
ax 3]
= 20x = 18x + 300

95,

300
=>2x-300=>x--§—-150

+ Number of students in college
B=4x
4 x 150 = 600

102. {2) Let the cost of 1 belt and 1
wallet be'Rs, xand Rs. |y respec-

tively.
& 12x + 30y = 8940
Dividing both sides by 3,

. 8540
dx + lﬂy=—3'— = Rs. 2980

104. (3) Required selling price

0
R, (5571850) - Rs. 2405
R T
WE.{E}CI=P[[1+EE] -1]
(1+£] o
=8500 17" 100

21
= B50O x 100 = Hs. 1785

106. (1) Speed of train = 60 kmph

60
= 1;5 meire/second

50
S metre fsecond

s Speed of train
’ Lengih of (platform+ train)
Timespent
- ﬂ 200 + x
3 27

= 600 + 3x= 1350 .
= 3x = 1350 - 600 = 750

750
=x= "5 = 250 metre

107. (3) Decimal equivalent of each
fraction :
5 3
— =1, 5 —=
1 0.4 ‘B ,STE
2 _oaa. %:(1235
2.5 4.5
“7%8 8 1

108. (4] Required number = 62
Mustrations =6 +2=8
G=2x3

109. (2) Lgulcker Approach|

M D =M, D,
=Iﬂx8= EXD

B
=D,="T "= 5 days

110. (5) If the number be x. then
(71 - 46)% of x= 120

25
= — = 120 = x =480

100
480 = 30
“30%0['480: 100
= 144

111. (5) Average of five consecutive
odd numbers = 95
~ Third number = 95
S 00%097>05>93>01
 Required fourth number
=95 -2=03



112. (3} Required average :
76+ 48+ 84 + 664+ 70 + 64
(i1

L 308 _ g
G

113. (2) [Quicker Approach]|

Total percentage expenditure
= 45 + 30 = 75%

Savings = 25% = %

. Monthly income
_ = Ra. (4500 = 4] = Rs. 18000
114. (4) [Quicker Approach|

SIx100
Rate = principal x Time
23840 x 100
= oEE00xT 12% per annum
118. (1) Ratio of benefits of A and B.
= 150000 : 250000 =3:5

B
B's shars = m[ xlsmﬂﬂ]

= Rs. 100000
116. (2) Required average population
of state B

226+ 208 + 24.2 + 264 + 2832
=[ 5 ]lakh

B2 s
117. (4) Required mﬁa

= 15.6:28.2 = 26 : 47
118, (5) Required percentage

_ 238 100=120
198

118. (1} Total population of all the
states in 2005
= [18.8 + 24.2 + 19.8 + 17.8 +
25.8) lakh = 106.4 lakh

120. (3) Total population of all the
states in 2007
=[20.2 + 28,2 + 226 + 224 +
28.2) lakh = 121.6 lakh

Required percentage
282 . 100 =23
= 1216

121.[3]3 8 1 14 14 5 12
HANNEL

122, (4) Meaningful words
= LATE, TALE, TEAL

12. 2IGROWN NAME
VIR A A R A |
7@%368 64 %8

Therefore,
GEAR
N I A 4
78648

G RO U PED
-1 +1 +1
N QF V E Q
127. (2) The number44lisamulti-
ple of 3.
128, A P>T>W
Q is not the lightest.
F>T>= W .
: A
Q=R

Mo relation can be established

between W and R. Therefore, ei-

ther R or W is the lightest.
129, 4)?7=14WIER4V3IPB

= 7P7=14+16+4-3x5

= 7=144+4-15=13

130. (5} p—=2 3 M; E——=B;

T—=2 0 1

v—Ey

12th 18th

1831 @2 R[] Me—

M's position from the right end
=30-18 + 1 = 13th .
(132-137):
(i Al chairs are tables — Uni-
versal Affirmative (A-type].
(i} Some desks are chairs — Par-
ticular Affirmative (I-type).
[iii) Mo fruits is pencil — Univer-
sal Negative [E-typel.
{iv) Some fruits are not pencils —
Particular Negative{O-type).
132. (2) Some desks are chairs.

=3 "F"

All chairs are tables.
I + A = I-type of Conclusion
"Some desks are tables.”
Conclusion 11 is Converse of it.

133. (4) All sweets are frults,

No fruit is pencil.
A + E = E-type of Conclusion

"MNo sweet is peneil.”
Conclusions I and 111 form Com-
pleneniary Pair. Therefore, either
1 or 111 follows.

134. (1) All the three Premises are
Particular Afflrmative (I-type).
No Conclusion follows from the
two Particular Premises.

1386. (3)

All roofs are cameras.

Some cameras are photographs.
A +1=+ No Conclusion
Conclusion Il is Converse of the
first Premise.

138. (5) -Some nalls are horses.

All horses are tablets.
1+ A= [-type of Conclusion
“Some nails are tablets.”
Conclusion 11 is Converse of it.

Some nails are tablets.

All tablets are crows.

I + A = I-type of Conclusion
“Some nails are crows.”
Conclusion [ is Converse of it.

All horses are tablets.

All tablets are crows,

A + A= A-type of Conclusion
=all horses are crows.”
Conclusion [1l is Converse of it.

(1) All buildings are towers.

g

All towers are roads.
A + A= A-type of Conclusion
“all buildings are roads”
Conclusion ! is Converse of it.

All towers are roads.

All roads are huts.

A + A = A-type of Conclusion
© “All towers are huts”.

This is Conclusion I1.

188. (1) | Symbol | Number | Letter |

There is no such combination.
139. (2) Sth to the right of 22nd from
the right end means 13th from
the right end, i.e., L
140. (3]

| Numbm’h Symhol[ Leiter I
Such combinations are :

[68R|, [2# U]




141. {4) According to question, the
new sequence would be

 DARBAKDEBJ ElilFﬁM PIHWHMUQTN

11th from the left end
142, i3

| Number [Cmscmantﬁonsnnantj

Such combinations are :

[559]. [N

143. (5) a—2 512 g

6—tty p— W
g '|'2 ?T -3 u

O

J—=2 4,9 .F

(144-149): B
il Pg=P<Q
M) PE@=P=9Q
fPiQ=P>Q
WP Q=F<Q
MPEQ=P=0
144, I MBK = M<K
5 K&6T = Kz=T
TBJ = T
Therefore, M < K=T < J
Conclusions
[. J#EK = J=K: NotTrue
I.T#M = T>M: NotTrue
HL.M#J = M>.J: NotTrue
148. Q) F&@T = F=T
THM = T=zM
MER = M>R
Therefore, F=T<M=>R
Conclusions
. R&T = R<T : NotTrues
IN. F@M = F=M: NotTrue
N.F&M =+ F<M: NotTrue
Fis either smaller than or equal
to M. Therefore, either Conclua-
sion I or Conclusion II is true.
148. (3} J&H = Jz=H
H&B = H=B
B%N = BzN
Therefore, J>2H=EB=zN
Conclusions
1. N6H = Nz=H: True
. HN@J = N=.J: NotTrue
Ii.J&B
147..2) B#T
ToK
KM= K=M
Therefore, B> T<K<M
Conclusions
I. K# B
1. MET
[m.B#M
HMB. (1) D%WF
F&iK

K= B : Not True
M>T: True
B> M : Not True
D<F

F=K

a8l

Therefore, D= FzHK=R
Conclusions
. R%F = R<F: True
II. A% D = R<D: Not True
IILLR@D = R=D: NotTrue
149, 5l WOM= W=M
MW%WF = M<F
D#F = D>F
Therefore, WM< F=D
Conclusions
[. D#M = D>M: True
[N WeF = Ws=<F: True
IM.WeD = Wa<D: True
(180-153):

180. (1) M is second to the right of A,
151. [2) T is third to the left of M,
1B2. (4) K is fourth to the right of H.
153, (3) R is sitting between H and T.
184. (3) A will be third to the left of R.
155. (4) Histo the immediate left of K.
156. {2) From Problem Figure (1] to (2)
all the desfgns rotate through 90°
clockwise. Similar oCour
from Problem Figure (3) to 4 and
from Problem Figure (5) to An-
swer Figure.
157. (5) From Problem Figure (1) to (2)
the designs move in the follow-
ing manner :

*E— 05—

L
L

Similar changes occur from
Problem Figure [3) to (4] and from
Problem Figure (5] to Answer Fig-
ure.

158, (4) The movement and other
changes in designs can be

showrn as :
(1) to (2) (2} to (3}
M N
- S0 B S 0

These two steps are continueg
alternately in the subsequent fig.
ures.

158, {1} The movement and other
changes in designs can be

shown as -

(1) to (2) (2) to (3]
aE——>0 ———>8
. .

A Al |@E———n
v V] [ee——e®
M 5! A
a0 ([B——a

These two steps are continued
alternately in the subsequent fig-
ures. ’

{3 From Problem Figure (1) to (2)
the designs located at the four
corners move one step in clock-
wise direction and the rightmost
design of middle row maoves to
the leftmost position. Similar
changes occur from Problem Fig-
ure [B) to Answer Figure.

(1) Text would be copied from the
document and placed in the clip-
board
162, (2) Cursor
184. (3} Round
168. (3) Both Pictures and Text
166. {4) Sub Directory

180.

161.

163. (1) Monitor

187. [3) Title 168. (1) platform
169. (3) Java 170. (4] Bold

171. (1) CPU 172. (3) read-only
173. (2] Start 174, [4) My Text
178. (4] server 176. (1) Home Fage
177. (4) Driver  178. (3) editing

179. (1) workbook 180. (2} Monitor

181. (5) All of these

182. {4} Boosling the purchases

183. (4) Scope for marketing

184. (5) Share of business among
pears

185, (4) All of these -

186. (1) a buyer

187, (2} Direct Selling Agent

188. (1) to boost customer contacts

189, (3] A likely buyer

180. (3) To lose the business

191. (5) Pursuit  182. (5) All of these

183. (4) Additicnal services

194. (5) All of these

195. {5} Unique Selling Propositions

196. [4) Automated Teller Machine

197. (4] business document for
marketing strategies

198. (1) the. market group into
homogeneous groups

198, (3} High Networth Individuals

200. (5) Mobile alerts
a0



